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Time Allowed : 1:1; Hours| [Maximum Marks :

HISTORY

Paper II

Note :— All questions carry equal marks and all are compulsory.

1.

2.

Consider the following statements :

(1) The citadel forms an important part of Harapparn planning
(2) The 'Dockyards have been excavated at Dholavira and Lothal
(3) The Harappan.objects are found in Mesopotamia

(4) The Harappans could read

Which of the above are correct ?

(A) 1,2, 3,4 (B) 2, 3, 4

C) 1,3, 4 D) 4,1, 2

Which of the follovying is not a part of the Vedic literature ?

(A) the Aranyakas (B) the Puranas

(C) the Brahmanas (D) the Samhitas

T.B.C. : 45/13/ET 2
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3. Which of the following is not correct of the Vedic Age ?
(A) The existence of the institution of marriage
(B) The evidence of female education
(C) The practice of polygamy
(D) The practice of Pardah Custom

4. Match List I with List IT and select the correct answer from the codes given

below the lists :

List I List II

(Authors) ' (Works)
(a) Hemachandra (1) Ritusamhara
(b) Jimutavahana (2) Krityakalpataru
(¢) Kalidasa (3) Kumarpalacharita
(d) Lakshmidhara ~ (4) Dayabhaga
Codes :

(a) (b) (c) (d)
(A) 1 3 2 4
(B) 2 4 1 3
(C) | 3 4 1 2
(D) 4 1 2 3

T.B.C. : 45/13/ET 4
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T.B.C.

The Jaina Kalpasutras were written by :

(A) Parshvanath (B) Mahavira
(C) Bhadravahu - (D) Adinath
The Ashokan Pillars are simi];ar to which of the following :
(A) Rome (B) Greece

(C) Persepolis (D) Afghanistan
What was the .Southem-most Rock-Edict of Ashoka ?
(A) Dhauli : (B) Sopara

(C) Yerragudi \ (D) Kalsi

Of the following wh(;se coins depict thé ships 7

(A) the Satavahanas ' (B) the Kushanas
(C) the Mauryas (D) | the Guptas
What is not true of the Gupta period ?

(A) Issue of large number of gold coins

(B) Excellent growth of literature

(C) Beginning of new suzerain-vassal relations

(D) Establishing the all-India empire

: 45/13/ET 6
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10. The queen whose name is mentioned in the Queen’s Edict ?
(A) Kumaradevi
(B) .N aganika
(C) Duttadevi
(D) Tissarakkha

11.  Which of the following styles of architecture was developed by the Chalukyas

-~

of Badami ?
(A) Nagara (B) Vessara
(C) -Dravida . _ (D) Nagara and Dravida

12.  Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :
Assertion (A) : The Harappan objects are discovered in Mesopotamia.
Reason (R) : The Harappans had colonised it.

In the context of the above two statements, which one of the following is

correct ?

(A) Both (A) and (R) are true and (R) is the correct. explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

T.B.C. : 45/13/ET 8
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13. ' Given below are two statements, one labelled as Assertion (A) _and the other

labelled as Reason (R) :
Assertion (A) : The Pallavas were great builders of temples.
Reason (R) : They populz;rised the Ratha style of Architecture.

In the context of the above two statements, which one of the following is

correct ?7

(A) Both (A) and ('R) are true and (R) is the correct explanation of (A)
(B) Both (A; and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (Ii) is false

(D) (A) is false but (R) is true

14. Which of the following methods was introduced by Rajaraja Chola in his

administration ?

(A) Local Self-Government

(B) Taking the help of Temple and People
(C) Associating foreigners

(D) Associating the Yuvaraja

T.B.C. : 45/13/ET 10
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15. Who wrote the Mandasore Inscriptiop ?
(A) Ravikirti (B) Harishena
(C) Vatsabhatta ! : (D) Banabhatta
16. Which is an open pavilion in South Indian Temple Architecture ?
(A) Vihara , (B) Gopuram
(C) Mandapa ' (D) Ratha ‘
17. Chehra and D‘agh were associated with :
(A) Market reforms (B) Military reforms
(C) Civil reforms (D) Judicial reforms
18. Which Sultans -of Delhi took the extreme step of abolishing 24 taxes ?
(A) Feroz Tughluq
(B) Sikander Lodi
(C) Alauddin Khalji
(D) Muhammad Tughluq

T.B.C. : 45/13/ET 12
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9. The founder of the Delhi Sultanate was :

(A) Iltutmish (B) Balban

kC) Ala-ul-Mulk . | (D) Qutub-ud-Din Aibek
20.  The first battle of Tarain went in favour of :

(A) Muhammad Ghori

(B) Mahmud Gaznavi

(C) Prithvi Raj Chauhan

(D) Annang Pal Tomar

21. Itutmish has been described as a great moneyer (Mint Master). What measures -

did he do to achieve this fame ?

(A) He established Silver Coins (Tanka) system in his mint towns
(B) Introduced.Jital Coin

(C) Collected different coins in his mint towns

(D) Coins circulated in enemies territories by him

T.B.C. : 45/13/ET 14
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22.  Which one did not form a part of “Chaturjanga Bala” ?
(A) Infantry (B) Cavalry
(C) Eléphants (D) Navy
23. To whom, the Mansab of 7,000 Hajari was given by Akbar ? )
(A) Mirza Raja Jai Singh
(B) Maharaja Man Singh
(C) Sawai J.ai Singh
(D) Rao Raja Bharmal
24. Amir Khusrau bacame a disciple of :
(A) Sheikh Salim Chisti (B) Qazi Hamid-ud-din Nagori
(C) Baba Farid (D) Nizamuddin Auliya
95. Name the Delhi Sultan born of Hindu/Rajput Mother :

(A) Feroz Tughluq (B) Sikander Lodi

(C) Nasiruddin Khusrau (D) Balban

T.B.C. : 45/13/ET 16
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26.  Mansabdars were :
(A) Military Commanders
(B)  Provincial Governors
(C) High Civil and Milit.ary Officers
(D) All of the above duties

27.  What were the composition of the ruling classes in the thirteenth century’s

India ?

‘

(A) They were royal slaves of the nomadic Turkish and Central Asian

Origin
(B) Descendants of Arabic royal families
(C) Descendants of Persian royal families
(D)  Mughals
28. Name the river on whose bank was the city of Vijayanagar located ?
(A) Kaveri (B) Krishna

(C) Tungabhadra (D) Godavari

T.B.C. : 45/13/ET 18
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30.

31.

T.B.C.

The Mughal “Jagir” was equivalent to Delhi Sultanates :
(A) Inam Grant (B)‘ Igrarnama of Land
(C) Iqta - (D) Khums

The founder of the Relthore Kingdom of Jodhpur was :
(A) Rao Chundaji (B) Rao Mal Deoji
(C) Rao Jodhaji (D) Rao Viramji
.VVho built the city of Siri ?

(A) Mu;mmmad bin Tughluq

(B) Iltutmish

(C) Balban

(D) Alauddin Khalji

What was the term Iqta ?

(A) A Comrhercial Tax

(B) A Jagir

(C) Land allotted in lieu of civil and military services

(D) A tax on cash crops

- 45/13/ET ' 20
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33. Who had introduced the Permanent Settlement ?

(A) Thomas Monro (B) Cornwallis

(C) Lord Warren Hastings (D) Lord Dalhousie
34. When was Avadh annexe‘d by British ruler ?

(A) 1856 (B') 1848

(C) 1854 , (D) 1855

35. When was the maximum age of Indian Civil Service reduced to 19 years by

the British ;'uler s
(A) February, 1876 (B) March, 1878
(C) July, 1890 (D) June, 1890

36. Who was the Indian Viceroy when ‘Vernacular Press Act was passed to curb

the liberty of the Indian Press ?
(A) Lord Lytton
(B) Lord Ripon
(C) Lord Minto

(D) Lord Chelmsford

T.B.C. : 45/13/ET 22
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37.  Match List I with List II and select the correct answer using the codes given

below :

List 1

(i) Sir John Lawrence

(if) Sir James Outram

(it) Disraeli

(iv) Canning

Codes :

(2) (11) (t11)
(A) (a) (b) (c)
(B) (d) (c) ®)
(8] (d) (e) (a)

(D) (b) (a) (c)

T.B.C. : 45/13/ET
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(a)

(b)

(c)

(d)

(iv)

@

(a)

(d)

(d)

List II
1857 was the national revolt
R.ebellion had been fermented by
Brahmins on religious pretexts
Mutiny was the result of a
Muhammadan conspiracy
Mutiny resulted from the cartridge

affair
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38. Arrange the following events in the correct sequence :
(i) Death of Mir Jafar
(ii) Battle of Buxar
(111) ‘Black Hole Episode"
(iv) Treaty of Allahabad
(v) Battle of Plassey
Select the correct answer from the codes. below :
(a) G, (), " @, (1) and (V)
(B) (i), (), (), () and ()
(C) Giv), (), @), (z1) and ()
D) @), G, @), (v) and (v)

39. When were ten and fifty rupee notes introduced in India as per the Act VI

of 1903 ?
(A) 1911 (B) 1903

(C) 1905 (D) 1904

40. How many private companies signed contracts between 1854-1860 to construct

and manage railways in different parts of India ?

(A) Ten (B) Three

(C) Eight | (D) Five

T.B.C. : 45/13/ET 26
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41.

42.

43.

44.

45.

By which Act communal electorate system was introduced ?
(A) The Act of 1919 (B) The Act of 1909
(C) The Act of 19356 . (D) None of these

Name the ICS officer who wrote the book ‘The Economic History of India’

at the beginning of the 20th century.

(A) Romesh Chandra Dutt (B) Rash Bihari Ghosh

(C) Mahadev Govind Ranade (D) G.V. Joshi

Who had succe;eded Lord Lawrence as the Governor General of India ?
(A) Lord Mayo (B) Lord Dalhousie

(C) Lord Ripon (D) Lord Curzon

Name Indian leader who propounded theory of ‘Drain of Wealth’ ?

(A) Dadabhai Naoroji (B) A.C. Bannerjee

(C) Bipin Chandra Pal (D) M.D. Ranade

Who had launched two newspapers ‘New India’ and ‘Common Weal’ in early

1915 ?
(A) Annie Besant (B) M.A. Ansari
(C) B.G. Tilak ' (D) Indulal Yagnik

T.B.C. : 45/13/ET 28
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46.

47.

49.

50.

After the Second World War, cold war started between the following

countries :

(A) U.S.A. and Germany (B) France and Italy
(C) USSR and China (D) U.S.A. and USSR
Which is the manuscript source in history ?

(A) Diary (B) Newspaper

(C) Books (D) Inscription
Imperialism left deep impact on the following :

(A) Asia and Africa (B) Europe

(C) U.SA. (D) Russia

The scope of History includes all activities of :

(A) Animals (B) Birds

(C) Sea creatures (D) Men or Human being

Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : In the Swadeshi and Boycott movement of 1905-1908 in
Bengal, not only students and women but peasants also
actively participated.

Reason (R) : This movement was a powerful expression of resentment

against the partition of Bengal.
In the context of the above statements which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

T.B.C. : 45/13/ET 30
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